S R S N

B8 1.1. RORZE a+bi (a,b: FH) OFBICEZE LRIV,

141 1

D @=9B+2) @ 0+5)" )= @5

IR 1.2. HEEa, b EBARB IS LU TREZRLREI WV, EL, BRI L Tz 20
HER R T

(1) ab+ab BEHTHSB.  (2)d" — @)" BHERTH 3.

IR 1.3. ROERMDHNHEZE K D72 X\

1—3
3+1

(1) 2 —3i (2) (2 —3i)(1+14) (3) (4) (2 —1)"

B8 1.4. ROBEERORAZEZIRZ WV,

Vi@ i 1-VE (@i-1

8 1.5. ROEFEHZMEN re? OIRITE LRI W, 2720, 0 3FEHE (-r<0<m) %t .

(1) 1—+3i  (2)1—i (3) V3 +i

(4)

5 (it

- —+—¢> (6) (V3+1)°

fIRE 1.6. XD ERXDE%, Z OMEED 72 0ER re? (0 <6 < 27) DETRDIRZ V.

(1) 2* =1 (2) 2° = 4(1 +1)

PR 1.7. w = 270 b 532 %, ROMERDHEI V. 7271, n 122 X hRECHRKE T
2. (LY b o OffiEETHENL)

1 n 1
1—w?2 1—wn2

(1) 1+w4w’+- +w" 24w} (2)

LR— MEHAARR 4 A 16 H 12 ¢



